Name:

Block:

Types of Chemical Reactions

For each of the following chemical reactions, indicate whether the type of reaction is:

e synthesis

e decomposition

10.

11.

. H2+02—>H20

Sg + OQ e SOQ

Zn + HCl — ZnCl; + Hy

Na + H,O — NaOH + H,

ClOH16 + Clg e C + HCI

Si2H2 + OQ e SIOQ + HQO

Fe + 02 — F€202

C7H602 + OQ — C02 + HQO

F682 + 02 — F6202 + SOQ

FeQO2 + HQ — Fe + H2O

e double replacement

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

e single replacement e combustion

e none of the above

K + Brys — KBr

CQHQ + 02 — COQ + HQO

HQOQ — HQO + 02

C7H16 + 02 — COQ + HQO

KClOy — KCI1+ O,

KClO; — KCIO4 + KC1

P4010 + HQO —_— H2P04

Sb + 02 — Sb406

C2H8 + 02 I COQ + HQO

FesOy + CO — Fe 4+ COq




23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

PCL:, + HQO — HC1 + HQPO4

HQS + Clg e Sg + HCI

Fe + HQO E— FGQO4 + H2

Ny + Hy — NH,

N2+02 — NQO

C02 + HQO e C6H1206 + OQ

H2P04 — H4P207 + HQO

COy +NHy — OC(NH2)2 + H,O

Al(OH)Q + HQSO4 e AIQ(SO4)2 + HQO

F62<SO4)2 + KOH — KQSO4 + Fe(OH)2

HQSO4 + HI — HQS + IQ + HQO

Al + FeO — Al,O, + Fe

Na2C02 + HCl — NaCl + HQO + C02

37.

38.

39.

40.

41.

42.

44.

45.

47.

48.

49.

P4 + 02 e PQO5

K,O + H,O — KOH

Al + 02 — A1202

NagOQ —+ HQO — NaOH -+ 02

C+ H,O — CO + H,

HQASO4 — ASQO5 + HQO

. AIQ(SO4)2 + Ca(OH)g — Al(OH)Q + CaSO4

FGCIQ + NH4OH e Fe(OH)g + NH4C1

C&Q(PO4)2 —+ SIOQ — P4010 + C&SIOQ

. N205 + HQO — HNOZ

Al + HCl — AICl; + Hy

HQBOQ — H4B6011 + HQO

Mg + Ny — MgyNy

. NaOH + Cly, — NaCl 4+ NaClO + H,O



